coBm 23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180 Fax. 714.692.5016

www.cobrausa.com

Items Supplied > Application(s) >
1 — Chrome Plated Freeway Bar \ HONDA VTX1300C/R/S 03-09 \

2 — M10 Thin Flat Washer (VTX1300C only)
2 — M10 Thick Flat Washer (VTX1300R/S only)
1 - M8 x 16mm Flange Bolt

Instruction Manual > ‘\ 01-1137 & 01-2137 ‘\ Page 1 of 1)
Read all directions carefully before installing your Cobra freeway bar

Remove M8 bolt from horn and set aside.
Remove M6 bolt from right side floorboard mount. (VTX1300C Only)
Remove left and right back lower floorboard M10 bolts and set aside.

A w DR

Slide Cobra freeway bar between frame rails and front fender. Start two M10 bolts (1=left, 1=right)
that were removed in step 2 through the lower brackets on freeway bar, place the two M10 flat
washers (the thin flat washer is used on the “C” model and thick flat washer is used on the “S” model)
between the lower freeway bar brackets and the floorboard mount, you will notice a slight cut out
where the washer will go, place one on the left side and one on the right. DO NOT TIGHTEN
hardware at this time.

5. Install M8 x 16mm bolt provided through upper freeway bar mounting tab and into original horn mount
on frame (See figure 1).

6. Tighten the M8 bolt and two M10 floorboard mount bolts at this time. Torque to factory specifications.

Install horn to tab on upper left hand side of freeway bar mounting bracket using M8 bolt set aside
from step 1, making sure the horn bracket is parallel with the freeway bar and tighten (See figure 1).
Check horn wires for proper connection and good working order.

8. Check to make sure all bolts are tight and everything is in good working order before riding.

M8x16mm BOLT

FREEWAY BAR

FIGURE 1

* Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under

the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.

07/04 ' Anything's Possible.




